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SECTION - (A)]

(1) GENERAL AWARENESS

1 Headquarters of TIND are sitnared at
(A) New Yok, USA
{B} Maguc (Netherlands)
() Gencya
(¥} Pans
2 T Zakir Hussain was
(A)  the firsr Muoslim President of Indiz
(B) first Vice President of India
(C}  first President of Indian National
Congress
(D} first Speaker of Lak Sabha
3 G-13 is an coonemic grouping of
(A} First World Naliuns
(B) Second World Nulions
{(C) Thind World MNations
(D) Fourth World Mations
g Lndia's first Technicolour film in
the early 19303 was produced by
[AY 'Thansi K Tani' Schrab Modi
{B) ‘“Jhansi Ki Rani', Sir Syed Aluned
(C} Nirza Ghalit', Sohrab Modi
(13) 'Mirza Ghalib', Munshi Premohand
o Lal Thahadur Shastn
(A} succeeded Pandit Welru as the
second Prime Minister of Tndia
(D) signed the Tashkent Agreement with
Avub Khan tor 4 cessclire herwesn
India and Pgkistan
(C) 15 also known as "Van of Peace”
D7 All of the above
IDD-3SEDTIX-13 B |
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Filana is causcd by
(4} Dactaria

(R} Mosguito

{C)  I'rotozoq

(D} Virus

Whe was the first Indian Chicf of Army
Statt af the Indian Army ?

(A) Gen K. M Catiappa —

(B)  Vice-Admiral & D. Katard

(C) Gen. Malwraja Rajendra Singhji
(D) Noue af the above

Coral reefs in India can be found in
(A The coast of Orizsa

M) Waltsir

i} Rameshwaram

(13 Trivandoam

The Chiel Minister is appointed by
LA The Gavernor

(B)  The President

{€)  The Chief Justice of supreme Court

(D) The Chief Justice of High Courl

Durand Cup i3 associated with (he
game of

(A} Cricket
{BY Football
() lockey

(D) Vollevkall
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i1 Federation Cup, World Cup, Allywyn
International ‘Trophy and Challenge Cup
are awarded Lo winners of

(A)
(B)
()
(D

Tennis
Vallevball
Raskethall
Crickel

Fire temple 15 the place of worslop of
which of the following religion ?

(A
(B)
()
(1)

Tacisan
Judaism
Fororstrianism
Shintedsm

13

The WYice-President 13 the ex-ollicio

Chairman of the

(A) Rajva Sabha

(B) Lok Sabha

(C) Planning  Commisgion
() MNatonal Development Counel
14 The
(A)
(B)
(€]
{D)

ceone layer restricls
Wisible light

Infrared radistion
X-rays and Gamma rays

Lltraviedet radiaton

Leology deals with
iA) Dirds

(B
()

Cell farmation

Relation  belwsen  sieanisms  and
rheir environment

(D)
JDD-3SEDTIN-13_B |
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Which is allegad ro ha the biggest seandal
of recoent Ling Y

(A) ISRO-Devag deal (2011)

(B) 2G spectrum scam (2000

(C)  Coal blocks allotment (2012)
([} Indira Gandhi Tntermational Airpert

Seam (2012}

Emtomology s the science that studics
(A)
(B)
(€}

Behaviour of human beings
Insccls

The vngim and hastory of lechnical
and scientific rerms

{D} The tormation of rocks

|
For which of the following disaplines is X ll
Nobel Proze awarded 7 |
{A}) Physics and Chemistry I
{(B) Ihvsiology or Medicme |
(C1 Literature, Peace and Economics
{1} All of the zbove

Mumping s
(A) Seclling of poods abroad at a price
well helow the production cost at
the homa market price

(B} The process by which the supply
ot a mamtacturer's product remains
lovy in the domestic market, winech
fetches him better price

Prohibited by regulation of GATT

Al of the above

()
(D}

For the Olympics and World Tourmaments,
the dimensions of basketball court are |

(A) Ztm = 14 m
{(B) Z& m = 13 m
() 27T m = 16 m
(1) 28 m = 16 m

| Coentd...




(i) GENERAL INTELLIGENCE & REASONING ABILITY

Odometer i3 to mileage as compass 18

Ty ¥

(A} spesd
12y hiking
() aesdle

(D) dizection

“
'

Play is to aclor as concert 18 o

(A) symphony
(B) usician
{C) prano

| i1} percussion

Fill the htank in the middle of the series or

end of the series :

14

SCD, TEF, UGH. WEI.

(A) CMM
(B) LI
© Vi
D) 0T

JAK. KBL, LCM. MDN,

(A] OOP
(B) WEO
{2y MEM
(D] PTO

JDD-3SEDT/X-13 B
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Ihe following guestion consists of « related
puir aof worids. followed By four paiss of
words, Chanse the paiv that best PEPresents
a similor velationship 1o the one expressed in

the originel paiv of worids

TAILOR : SUIT

(A} selienie | agent

(B) edit .| manuscripk -
(C) revise @ wriler

(D} mention - opinmion

Which word dess NOT belong with
the others 7

{A)
(B}
(©)
(L)

tulip
| =
baacd

daisv

fn theve question, a seriex is given, with
pssiuy ferm. Choose the correct alferritive
fromt the given ones that will complete the

Wi h Tt h

Which one set of letters when sequentially
olaced at the paps in the given letter
serics shall comgplete it 7

¢ _hd cheda a db a

{A) adabed
{(B) cdbbca
((2) daabbe

(D bdbeba
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28 The words in the bottom row are related | The follawing guestiog CORSISES of @ pelutod
in the zame way as the words in the 0p | petir of words Sfollawed by four Pairs of wardy,
row, For each ftani, find (e word that | Choase zhe Pisir that best reprevents o similur
completes the bottom row of wiwds, relationship o the one expressed in the

eriginal poir of vwerde
Candle lanip foodlich * & 4
- n 1y o
Ak Sy : 31 DIVISION - SECTION
(A} tent (AY Tayer © tjer
(B} city (B)  tether @ bundle
L) chapter @ verse
(€} dweiling 5 ey 2
(0} riser - Stage
(D) howse
Laok carefully at the seigitence of symboly 1
; : ; nd the puttern, Sefecr correct peatier.

2% Which word does NOT belong with (ke 7 L ; il

others ?
32 n [ ' . 2
(B) fin n
(€1 beak m
e
(D) rudder
e L]
(2
A L] H

The follving Yiestion kas an underlingd L7

word followed by four gnswor clinices. Yon :

will choose the werd that is o RECENSUTY P 3 agin) [ b

of the wnderiipod W, | el i

Ba
; e (4)
30 diploma (Cerliticars) Ball
(A} primcipal (A) |
: B) 2
(B)  eurriculum {8)
€1 3
C)  employmen ]
() employme: D) A
(D) sraduation

IDD-3SEDT/X-13 B |
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The fellowing question Jias o anderlined
33 ”__ ||_ _\ \ I:l U D l L J 9 | word followed by four aaswer choices. You
| it choose the word that is a necessary part

of the underlined word.

(1) ( l \ 36 book
A

ficiton
{B) pages
i) L D (Cy pictmes
= {D} learning
13) \ T‘\ J 57 Which word doss MOT belong with the
others 7
{A) leopard
h J \ = (By cougar
B H = (0 elephant
) 1 | (D lion
my 2 _ _ _ ;
; t38  Reptle is to lizard as flower is w2
)= (A) petal
s 4 0 (B) slem
A () daisy

(D alligaior

W Yard is to fuch as quart is to ? ; y 5 : :
30 'The following question hus an underline
word lollowed by four answer cholees

: Find the word that names 4 peccasary
(B) ounce :

(A1 sallon

part of the underlined word.
(Cy  mulk archestra
Al (A wvinlin
1 liguid
@ 4 (B) stage
() musician
35 Secrelly is to openly as silently 75 o Lk A S |
(A) scarcely 40 Look at this series @ 5.2, 4.5, s N
Whal murnber showld gome next ©
(B) impalitely (A) 3
() noisily By 23
L0 N &
) quictly My 36

IDD-3/SEDT/X-13 B) 12 [ Conid...
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(i) ARITHMETICAL & NUMERICAL ABILITY

41 A zcld cube with an edge of 10 cm is
melted to form vwo equal cubes. The ralio
of the edge of the smaller cube to the
edue of the bigger cube is

(A) 17315
(Ay 12

(Cy 12l
(1413

42 A circular garden has a circumference of
40 m There ds a 7 mowide hordet inside
the garden along ils periphersy, The arca
af the border is

(A} 2918 m*
(B) 2021 me
() 2024 m?
() 2926 =

43 Salunes of Ram and Shvam  lomether
amount to Rs 12,000 Ram spends B0%
of tus salary and Shyam spends 90% of
his salary If their savings are the same.
then whal 1g the salary of Shyam ¢

(4) Rs 2000
{B) Rs 4,000
(L2} Rs %000
(L) Rs. 10,000

44 X owns 20% shaes of a company. Y
awtis all the sharas of the same company
not wwned by X ar 24 awns 20% more
shares of the same company than what
5 owned by XN IE 2 has 36000 shares,
then how many shares are ovaned by Y7

(A) 30,000
(B} 36.000
(C)  B4Oan
4 I e ¢ RO A8

IDD-3/SEDTX-13 B
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‘lhe averaze of a sares of 20 numbers
i5 30, The difference between the highest
number and the smallest number i the
series i3 7O,

It the highest and the
smitllest numbers are excloded Tom the
series, then the average is 48, The lowest

wnber of he enginal sercs 18

(A} 23
(B) 27
() 30
(o) 42

An investor mvesled m lwo Lypes ol
bonds. Bond A snd Bend B, in the ratio
of 3 0 7. The milerest rate on Bond A i
12% and on Bond B, (0% Tf ha pets an
ilerest of Bs, 18,000 [rom Bond A, then
the amount of investmeant in Bond B ia

(A R 1,50.000

(B} Rs 3.00.000

(C) Rs 350,000

13y ks 300000

' x+8= —, then ¥ 15 egual to
:

(AT anr 3

{BY =5 ur 3

() 3oor s

DY 3 or 5

| Contd...
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49
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Acdrver has Lo drive anorher 120 ki o
complete s top. So fw. he has driven
at a spead of 60 kmph [or 3 hours. How
mugh tme should he take in completing
the remaming part of his journey so as

o aftain an average speed of S0 kmph

for the entire jourmey ?

(A) | howr
(B) 2 honrs
(€)Y~ 3 hours
{3} 4 hours =

-

Aocontainer 18 350 full, 6 & liters ol water
is removed, then the contamer is 172 Gl
The total capacity of the container is

(A
{:l—‘f"} & litres
E:;:.'J l6 litres
(1) 24 litres

d Titres

A specific type of doth vosts Rs 50 4
metre and a4 buver gets 8% discount
on the lotal cost, if he buys 125 melres

or morg, The cost of 625 melres of
cloth 1s

(A Rz 230040

(B} DRs. 27250

(€Y RBs 28750

(I3 Iis 30250

Al salary is 0% of B's salary which is
£3% of U salary. What percentage of U's
salary 13 A's aalary 7

(A) 5%

o) 10%
(€ 13%
(D). 20%

JDD-3/SEDTN-15 R |
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The cost of Type | rice is Rs. 15 per
kg and Type 2 pive 18 Re. 20 per ke I
both Tvpe | and 2 are mixed in the ratic
of 233, then the price por kg of the mixad
variely of tice is

{A) Rz 12.00
(B) Rs 1850
(Cy Rs 19.00
(0} Rs [930)

A drcle has a circumferance cqual o the
perimeter of a square. The ratio of the

rading of the circde to the side of the

square is
(A =
m =
o) =
.
{2y —

A sum ol moeney st sinple interest
amonnts o Rs, 513 in 3 vears and to Rs,

&34 i 4 years, The sum is :

(A) Rs G630
{B) Rz 690
(C) Hs obf
(D) Rs. 700

[ Contd...




55 ‘lThe averase age of Magan and Chhagan
after o period ol 5 years from now will
be 20 ysars Magan's present spe g
| 2 years, What 1s then average age now /
(A 14
B) 15
) 16
By 17

26 IF an wmount of Bs. 150000 is shared
between A, B oand O in the ratio of |
2 1 3 ;5 then A reccives the same
amowont a8 he would receive o' another
sum of money i shared between A, B
and € i the rationf 5 0 5 02 The ralio
of Rs. 1L.50.000 Lo the gecond amount of
mMonsy 13
(AY Zi: 3
(By 3 ;2
(Cy 55
My 3.2

57 A vne-metic border, mside a rectangular
ficld of length and hreadth are Sm and
5m respectively, bas 1o be ploughed. 10
the eoat of ploughing is Rs 20 per sguare |
mete, then how oueh amount will be
spent in plonghing the enbre bomder 7
(A) Rs 300
(B} Hs 340
() s 400
(1) Rs 240 |

JDD-3/5EDT/X-13 B | 3
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Twe numhbers are such that the sun of
thrice the first number and twice Lhe
cecond mamber is 200 and twice the (st
uumber miaus thrice the second number

iz 25, The mumber are -

) 58, 25
(B) 30, 20
(€y 20, 25
(D) 20, 30

The wages of & worker are inereased hy
0% The increased wages ars reduced

hy 20%. Express (he nel chanae in wages

ax a percenlige ol the orgmnal wages
(A 20% decrease

(B) 4% decrease

{C) 4% inerease

(T3} 200

IMCTELsE

Eetan is 4 rimes as fast as Mayur in
completing any work. Mavur fakes
15 davs more than Ketan to fimsh the
same work. I both work together, then
days will tha work he

m how oany

completed 7

(A 3 days
M) 4 days
Y 5 days
(D 20 davs

| Contd...
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Sl AT
(A #Tid
@y T
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(D) T T A

62 era) & i o e g w9

(A} #Fm (B} TR
(C) il (13) el

3 i & w5 At
By B 7

(A) SATELATT (B) g
() &% (D) T
64 Spm s e oftw g el R
(A} TSI
(B =
(©) wgE e A
(D) &4

68w i apRRT fam W ogmem R
it (Il &

(A) TiEPAET (B)
(C) S (D) WA
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() mPETaE W, TETH, IR
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68 wEL e E 7
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(D) =eH W, WS, YT, TR

69 A orgyy TEET

(A) T, Ofae, TEHT A

' fesram

By Trmluse, T, g
w1 THydmEm

(Cy e, D, T
EFiEg

(D) Fopmmfegre, WHIETTE, EET
w1 s

70 P wem W Um GTR ARE W A

s e i ww A @R e

(&) FIET FPT

(B} TR ATET

(Cy T T

(F Hie =
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[ (v) TEST OF LANGUAGE : ENGLISH |

fnstruction ; The following senfences e
divided into four parts. Qne purt in each
centence iy wrong, You have o firud it

Do y vou / se2 j a blue sky ?

TR I () R )]
. She ; have undersioed ¢ me concetly.
] (1) © ()

o L happy ; Just nOw.
2 {A) (B (C) (13)

Tnsserection : Seleor ihe suitable word wo fHl i
i folfowing sentenves.

%4  What 15 this box 7
{A) inlo {(B) to
(Cy for (D} in
85 lhave  iterestng book.
(A} & (B) the
(C)  an (D) by
86 vly mother me daily.
(A) scoldmg (B scold
) svolded (D) sealds
Instruction :

Read cach passage carefully and @swer tee
i ESAOITS that follow. For aach question four
pmfirtbl‘er anwwers bearing pambers i el
and I} are given, Unlp pne onl of these s
corpeet. You Juma to clovse the correct srswer
PASSAGE

Tf you walk on a sandy Deach you ledve youl
foptprints behind you. In oo time at all the waves
of the sen come and wash hem awsy- Tt o
walle oo the desert sqncs, again, you have your
footprints behind you. Sapn, the wind blows
your foolprints away.

Towever, il vou went upla the moon and walked
around on its surface, vou wold leave vour
jeotprints there for all time to come, What do
you think is the reason for this 7 It's simple.
The moan has no 4l of water, 50 e is nothing
tor distack the footprints, Lt 1s no wonder then
thar the footprints of the first people who visited
the mapn, are siill theie todav.

IDD-3ISTDTN-13 B]

On Jualy 20 1969, el ATnsirong and Buxzz
Aldrin became the tirst men 1o gel off their
spaceship and step an Lo the moon. They werce
wearng leavy space suls, but could wall and
jurnp quite casiy. This was possble because
everything on the moon is lighter. Armstrang
and Aldrin spent thres hours an the mopn, but
their lootprinis remain theis forever.

a7 Why was it gusy for ATmsITone, and Aldrin
10 walk on the moon in their heavy space
suits 7
(A} Twerything on the mauon is lighter

(B} Their happloess gave them strength

(Cy They didi'l think about the weishl
af the space suits

(D} The man in the moon kelped them

ro walke

28  Whose footprints are stll found on
the moon {
() Meil Ammstrong and Buzz Aldrin

(R} lssac Mewion
(C) Rakesh Sharma
(T3} Indira Gandh

96 How do vour fontprints disappear Goma
sandy beach °
(A) The waves subsidedl
{(E) People stop on them and scatter the
s
() They dre swepl away
(13) The wind blows them away

90 Why is it not possible to leave your
{ootprints in the desert

{A) You will not go there, because it 18
o bt
(B) The rain washes the footprints away

() The wind hlews the foolprints away
(D) Auimals disturb the fuotprints

0l Why is it possible for footprints o Temail
on the moon 7
(A)  The wind cannat blow Lthem away
(B) The rain caanot wash them away
(Cy  Aaumals cannot tisturh them
(D) The moon bas ho ar or watsr

1z | Congd...




Iasivaction : I the following yrestions four
ulterratives are piver for the idiomphrase
pnderlined in the sentence. Chovse the best
alternative which expresses the meaning of
tdiomphrase.

92 Though he has lot ol money, yet all his

plans are bailt upon sand.

{A)  established on msecure foundations
{B) based un inexpericnos
(C) resting on cheap malerial
(D) resting on immature ideas
23  The authorilies ook him to task for his
negligence
(A) mave him additional work
(B) suspended his assignmont
{C)  reprnimanded him
(D} foreed him to resion
4 Why do you wish to tread on the tocs?
(A) To give offence to them' ™
(B) To follow them gmdgingl",;'
(C) To treat them indifferently’
i To be kicked by them
45 In spite of the immense pressure exerled |
by the wmilitacts, the Governmenl hay
decided not to give in
(A)  accede
B) weld
(L} okhge
(DY canfirm
96 It was he who put a spoke in my wheel,
(A)  tried 10 cause an accident
(B) helped in the execution of the plan
(C)  thwarted in the execution of the
plan
(D) destroved the plan
IDD-3/SEDT/X-13_B |
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Instruction : Complete thee follioving senfences
G sclecting the best alfermive,

uy
(A)
(B)
(e
(D)

03
(A)
()
()
()

frsfriction !

In spite of many failures

he succeed hopes to.
ta suceesd he hopes.
he hopes 1o succeed.
he o hopes succeed.

He sent his zan

to be Curope ro educated.
o Burope to be educated.
cducated to be to BEurope.
to Furope be to ecucated.

Given below qre founr sentences

marhed ax 1 2 3 4 Find the correct order of
these seafences o make a paragrapl.

o0

:.lh'..-ih_'l—-

And develops our skills.

You gain knowledee as well,

It bunlds vocabulary. .

Reading nowspaper s NeCsssary.

The correct order will be

(4)
(B)
()
(1)

LMy 1.

¥

e

4371 2
235 4
ilZ4

o I B

Thew appreciation makes me happy.
| emioy cocking dishes,

Coolding is my hably.

My lanuly members enjoy cating
wharcver | cook.

The correct ovder will be —

(A)
(B)
(L)
(D)

41

S B |

1
i
3

213

b

1
L
7

[T e R

g
1
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103

104
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SECTION - (B)]

| POST SPECIFIC SUBIECT - RELATED QUESTIONS |

In pedagooy computer & used-

(A} e motivate the learmer

(B) o provide [eedback
() Vo interact with the learner
(D} For all the above

Which ol the lollowing is die braan of

the computer 7

(A I'rogramme

(B) Cenbral processing unil
{Cy Memory

(D} Hard Dise

Spare the rod — spoil the child

Thiz assumption is related to that type
ol discipling which has heen advocated-

(A) DBy npaturalist philosophy

(By By pragmatist philosophy
() In Victornan Era
(I3 In Democratic Era

The concept ol school complex was first
executed in-

{A) Udar Madesh
{BY MWadhya Pradesh
{Cy Bihar

(D) Rajasthan

The proponent af the Cognitive Theory
of teaching 1s-

(&) M. I Gage

(B) Shiv Kumar Mitrg
(C) B T Shkiner

(1 Melonald

IDD-3/SEDT/X-13 B |
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108

109

1140

111

[nstruction medivm affects the absence
and escape from class teaching

(A7 Agresd

(B} Indefiice

(T} Trizagreed

(1} None of the above

The determinant of teaching skill training
18-

(A} Components

(B]  Pupil-tencher

(C)  Superviso

(1) Headmaster

For a gond communication ... 1%
requried

A Clanty of thought

{3} Dramatic Presentation

{C) Speaking in a mild tone

(D) Speaking withoul pause

Which of the following s an approach
te educational planmng 7

(&Y MWan-power appraach
(B} Social Demand approach
() DBoth (AY and (B)

(1% MNone of the above

Institutional planning should be based
an-

(A Aum and needs
(BY Time table
(L) Administration
(D) Need

lcacher behaviour ought to be-

(AY  Admimstrazive
By  Tostuctive

{2y Idealistc

{0} Directive
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114

(NEY

Information hishway or net is-

(A) Computer
By loternst
() Tntrunel
(D) Key-board

[NSAT— (D) has been launched in

(A) 30 Apml, 1583

(B) 30 August, 1983
() 30 Docember, 1983
(D) 30 Jaary, 1954

The number of representatives of Ceniral
Governmenl in UGC is-

() 09
(By 02
06
(N} O3

Computer language is based on —

[A) Number system

(B) Symbkol systerm
() Seres system
M) Nene of the above

The main lask of educational
compuiel 13-

(A} Secoring the answers
(B) Presarve the infonation
() Analysis ol data

(D) Al of the above

IDD-3/SEDT/X-13_B |
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26

UNESCO satellite dirccted  televisian
program was used first

(A 1926
(B) 1959
(C) 1961
(D) 1265

In which of the folluwing instiuctional
procedure is the main component 2
(A) Syneclies teaching model

() Bagic teaching model

(€} Inductive model

(1) Social-stimulation

The computer based teactnng madel has

keen devcloned by-

(A Gilberl (1962}

) Stolorow and Dizvis (1905)
(€] Robert Gagne (1565

() Meener (1963)

which of the following expectation
students have from group learning °

(&)

To gel appreciation from the group

(B} To distribute the work equally
(€} To ienere individual view poi
(D) To attract isolated student Llowards

the group
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SSOVTHO L ETOM = WY

ln order o modify the undesirablc
behavior of a student the most elleclive
rcthod js-

(A} To pumsh the studen

(B} To bring it to the notice of parents

(C) To lind out the reasons for the
undesirable behaviour and provide
remeios

(D} To ignore it

In which university the micro-teaching
svstem started o 1941 7

(A) Stanlord University

() Oeiford  Universily

(C) Delln University

(I M. 5. University Baroda (India)

Fhe correct meaning of C AL i3

(A) Characreristics  of  Assisrant
Instiuetor

(B} Compoter Assisted Instruction

(C)  Communily Assisted Instruction

(D) XNone of the ahave

“Man is born free but every-whers he is
- chains,” This statement has bean given

by-

(A) Abrabam Maslow

(B} Jean Jacques Housseau

i) John Deawey

(L W1 Kilpatrick

Written communication stratagy includes-
(A)  Algorithms

(BY Decision ‘lable

(C) Both (A) and ()

(D) Mone of the above

JID-3SEDTX-13 B
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126

127

128

119

130

Main rosponsibility of  School
Manazement hes on-

{A) Principal

(B} Teachars

{C)  Manager

(D} All of the abave

Major objective of' Schaol Discipline is-

(A} To ensure safety of staff and
students

(B} lo creale an environment conducive
for teaching

(C} Both (A) and (B)

T None of the ahowve

At primary level leacher-taught ratio was
1 39

(A)  According to sixth  educational
sutvey of all Tndia

{B]  According ta fifth educational
survey of all India

(C)  According ta fourth educational
survey of all India

{1y) Ai:cnrd—.'ng ta second  educational

servey of all India

A Faull in o commuter prapranime which
prevents it from working correctly is
bnovin 8-

{(A) Bue

(BY LError

(Cy Boo~BEoo
(12 Virus

Practical knowlodee of language is learnt

d=—

{4y Schoal

{B) Language laboratony
(Cy Language teaching
(D} Languaze instruction

| Cantd...
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131 Thopping out from schaol 1eans-
(A) Ta come tn school casually
{B) To leave the schonl forever
()

(D} None of the ahove

lo play truant fiom class

132 Which one of the fallowing is nor a
prmciple of 4 poud time tahle?
{A)  Flexibility
(B)  Ruthless masier
(C)  Variety
(I} Coardinarion of etforts
33 The reason of absence and escape from
school js—
LAY Lack of interest in syllubns
(B) Poor method of tenching
(€7} lneffective teacher
(D) All the above
134 Ministry  of  Humag Resource
Development was established o
(A) Oct. 26, 1985
(B3) Sept 16, 1935
(C) Sept. 26, 1985
(D) Sept. 10, 1986
135 The scopc af Decigion Making 13—
(A} Manzsemen
(B)  Organization
(C)  Administration
(D) Supervision

IMD-3/SEDT/X-13 B
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135

=}

138

139

Factor of personalivy 15—

(A) Duetless glands
(B}  Familv background

(C) School
(DY All the shove

Which of the [ollowing aspeets s
discussed in 4 Teacher's Diaiy?

{A)
(B} ‘leaching Content
(C) Both (A} and (i)
(L

Class Time Tahle

MNone of the abgye

o __ embodies a histarical
component, is a resource far daily life,
is associated with focations in which
people inleract over time, and oxists in
the contexts of family, school dislrie,
sehoal, classroom, and {pam mralings:

(A)  Religion
(B) Diversity
C) Cullyre
(D) Lunguage

When Interpreting students' performance
through a cultural lens, cducarors should
consider the practices of the eultural '
group to which the student belongs, the
group's  histoy, lthe  child's
., and the oulturally
expected  roles, goals, FESTHITGES,
constramts, and biases ol the individual,

(A} Religion
(B} History
() Culture
(M) Lanpuage
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What de you moan by personality 7

(A) Behavwow ol persan

(B) Social development of persan
() ‘That things which person belongs
(D) Speech that person speaks

What s called hablit ?
(4}
{BY Il 15 an auromtic process
{C) (A) and (B) hoth

(D) Only (B

Bepeatation of any waork

How should leacher measure the ability
of students

(A) By examining the students

(B) By askinz the atudents

{C) Dy analysing the record of varoos
worlss of students

(D) By asking with parenls of students

How can gree the rightproper knowiladpe
ta the studenl 7

{A} By memorising the lesson

{B) By explaining the lesson

{7} Self smdies of student

(D) By teaching in interesting way

Hew should the student be taught the

soienice subject 7

(A} By giving the guestion answers

(B) By showing practical

(€Y Practicals we being done by the
sludents

(13} By teaching in interesting way

JDD-3/SEDT/X-13 B |
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1449

What is necessary (0 learn in the class 7
()

Proper environment

(B) Curiosily ol the shudents

() Tearned teacher

(L)  All of zbove

How should children he taught #

{A) They should teach language

{B) They should tell stones

(C) They should reach ]angu;_qgc by
play method

(D) By listening music

Il the smdent couldn't answer the given
queslions then

{A) Teacher should answer them

(B} ‘leacher should asked other students

(C) Tencher should encourage the
student o give answer

ljljJ:_I" Teacher should punish the student

Fducational tour is necessary in the schoaol
tor the students. Why ?

(A} The students feel happy in travel
(B} study in not treated as burden for
the students

(C] The students pet  segment
knowledge with direct relation/
contact

(D} The swdent enjoy the travel

Homework 15 given to the students.
Why ¢

(A)  The students could study ar home

(B) Far the developmoent of the students

(Cy Lo know that how nuch the students
understood the lesson

(D) For the development of writing

skills
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Now-a-days there are no educational

interest n the students, becanse

(A) There are 3 lot of Iulmley in the
busincss

(B) Educalion iz too mush cxpensive

(C) They can't sec the betrer futyre of
education

(D) There are no apprepriate syllabus
and model of education

What is the imporlance of moral educalion

i the teaching of the students 7

(A} Moral education is necessary for
this covironment

(B)  Moral education encourages the
students

(C) Moral education is uceessary for
the devclopment of characrer

(D) Moeral education makes a man the
Crreatman

Objective lype yuastions are asked despite

of cssay type questions in the schocl

Why ?

(A) For telling the imporlance of time
to the studenis

(BY For doing more work in less time

({C) For knowing answers of mare
guesticns

(1) It 1s mere convenient ta solve the
answer sheet

Studants are laken to educational tour, so
that

(A} Smudy might not be understood as

Furden

(B} Parents of the siudents might be
sarisfice

{€) The students can get knowledse
[Toarm 1f

() The students can enjoy

L]

34
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I the smidents couldn't answer your

questions 7

(A)  The teacher should tell thom answer

(B3)  I'he teacher should agk that question
i olher matter

(C)  Ihe teacher should ask them again
and aeain

() The teacher should give answer
and ask to remember them

[n this conlemporary enviroomenl. he is

the success teacher who :

(A} wears modem dresses and comes in
the class

(B) comes with mobile or pager in the
class

(C} creates the situation to  learn
something i the class

(D) have skills o make an cffectve
contact with shidents

What should teacher do before (eaching

the lesson 7

(A1 Lesson should be rcady by a student

(B) He should tell Lhe main ohjective
ot the lesson

() He should pumt out the meaning
of dificult words of the lesson,
first

(D) He should tell the answer ol
questions ol the lessons fust

What should teacher to after leaching the

lesson 7

(4) He should ask 1w do [iestinn-
answera of the lesson

(B} Ile should pive them answers of
the questions of the lesson

{C1 He should have them if they may
write ar 1ol

(D} e should test the understanding of
the sludents
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Howe will vou teach o the weak student 7

(A} You will give g new book with few
facts daily

(B)  You will teach him with intelhigant

student

(C) You will give seperate time gnd
teach him

M You will rell hm that who docs

tabour hard he 2Cl8 anccess

Haw will vou stop thar students who are
naughty and take intoxicage substances 7

(A} You will give him Tgorous
pumishment and aglier Inprevement

teach him

() You will tcll him about disenses
which are arosen with il and then
alter teach him

(€} You will take inlgxicated substane
and then teach then

(D) You will reach only thrse student
who da not (uke imlosicated
substanee

o are a teacher and ¥ou are lransferred
m the town fiom a village institution,
How will you teach {hem ¢

{A) He will live |own sometime, than
£0 for reaching

(B} There will be ne change in your
feavhing process

(€3 You will teack with modern means
such as Internet ete,

D) You will talk (¢ other ieachers thon

teach with madem techaiyues

JDD-3SEDT/X-13 B |
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For golden future of srudents they shoull -

(A} study mare and mope enly in school

(B} mcmorise only that questions which
have possibility 1o ask Iy the
examination

{C)  Study with teacher in schoel and
parenls in home

(D) not ignore their hobhies or interests

I there are some naughty students in e

class then haw will you teach in thar

sluation 7

(AY Without payinge any attenrion, Wil
will teach the lesson

fB) ‘Lo make them understand, yoy wil]
tzach in {he pehveological manner

€} You will cill their parents ang tall
them ther mentality

() You will request o orincipal to

expell them

A wood lencher -

(A} Keoep the similay EYC 0N every
students ol the class

(B) Help the economically  weaker
students

(C} Pay more attention 1o the weak
students

(12)  Help poor students to 4lve money
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164 As a leacher, what will vou do if students | 168
do ool attend vaur class?
{A) Blame students for their absence
trom Lhe class.
(B)  Ponder over the present atritide of
sludents in a calm manner.
(€} Think about using some interesting
techniques of teaching,
(D) Ity to understand the reasons and
try 10 climinate them 163
165  There will he better communicaton in a
lecture iff a eacher
(A} reads trom prepared nores
(B) prepares the netes well in advance
and use hem as a puide
(C) talks exlempore
(D) talks extempore drawing examples 2
from other disciplines
166 Teuchzrzs who are enthyusiastic in ke
clags-room teaching
(A)  often lack protiviency in the subjects
which siays hidden uwader their
enthusiagm L7l
{B)  Simply dramatize 1o hold ihe
student’s attention
(C) involve their studentz in the
teaching-learming process
{1 all of the abova
167 e can be a good leacher if hotshe | 172
(A) has genuine interest in Leaching
(B)  knows how ta control students
(C)  knows higfher subject
(13)  has good cxpressian
JDD-3/SEDT/X-13 B 3%
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The most important skill of teaching is

(A) making students understand what
the tescher says

(B) covering the course presciibed in
his subject

(C)  keeping students relaxed while
leaching

(D) taking classes repularky

Effective tcaching, by and lage, is 2
lunction af

(A)  Maintaining discipline in the class
(B} Teachers honesly
(C) Teacher’s making smdents learn
and uaderstand
(D) Teachers liking for the Job of [

teaching

success of a prefession depends on—
()

Policy to please individuals
Maintaining rclationship with
people

(C)  Maintaining quality of work

(D) Lowalry 1a the superiors

Main role of teacher s identfied

with a—

(A} Leads

(B) Planner =
(L) Munager

{17} Maolivator

Prior ta teaching the teacher does
(A)  Identification of abjectives

(B} Prepararion of teaching lcsson plan
(£}  Kouw the interest of studenis
(12} All of the above
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Effective teaching includes—

{A) TTeacher is active bul students Tay
or mav not be active
(B1 ‘Tcacher may be aclive of inactive

but students are active
(Cy Teacher i3 active and students are
active

() All of the above situalions

Tmmediare outcome of teaching 1s—

(A) Changes in the behaviour of

students in desirable direction

(B} TDevelopment of loial personality of
students

{C} Building characters of the students

() Getling selected for a suitable job

Basic requirement of teaching
afficiency 18—

(A} Mastery on teaching shills

(D} Mastery over usc af different
techmiques of teaching

(C) Mastery over appropiate use of
media and Lechnology i teaching

(D) Al of the above

Cruestioning  skill in reachine is most

usetul in—

(&) Fnsuning students’ active
participation in learning

(B) Memorizing the facls bv studenis

() Making students disciplined

(0)  Prepating students for examination

IDD-3/SEDTN-13 B |
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(A)

A Teschar wanis to enhanoe his income.
Yoo will advise himdher to—

(A) Teach in coaching institutes during

extra Hme

(B) 'lake morc remuneralive woThs 10
the schoalicollege

(€} Jown cantractual assignmenis other

than teaching
(DY Wriling Books

As a principal vou will coeourage your
teacher collengues to—

(&) Participate In seminars and -
conferences in India and abroad

(B) Participalc in refiesher courses for

' crihancement of subject knowledss

(€) Doing commumty services [or
Upliftment of down rodden

(D) All of the above

A taacher shall inculcate social and mioral
valyes among students by—

Delivering lectures on values
(B} Showing TV programmes _
() Involving studemts actively m oo
currcilar activities
(D) Observing Religious Fearivals

The most significant approach ol
evahiation s

(&) Continuons and camprehensive
evaluation

(B} Conducling abjeclive term e
gxAmination

(Cy Maintaimng cumulative records of
students

(D) Semesier sysiem cvaltabion
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Educational technology 15 useful

hecause—

(A) it is the necd of the Lour

(3} it is adopted by [imons institutions

(C) it makes tenching effeclive and
efficient

(D) it allracts students towards teaching

and learning  activities

A teacher mwst have mastery over hig
suhject for— ==

(Al alertness

(B making impact on students

(T inlerest

(D) making teaching elfective

The term ‘kinder garten’ means—

{(A) Children’s

(B)  Children™s home

(C) Children’s schoal

(I3 Children’s playgzround

The Kothari Comumssion Bepart on

Helueation was entitled as—

{A) Education andg Mational
Development

(B} Leaning ‘o be’

(€7 Diversification of Edueation

(D) Education for all

The most appropriale meaning of
learning 15—

(A} Inculcation of knowledge
(B} Modification of behaviaur
() Personal adiustment
(D) Acquisition of skills

186 Teachers knowledge on student’s needs
and nteresly are coverad by the subject

(Al Philosophy of ccdueaion
() Psychology of educarion
(L) Sociology of ediucation

(3)  Politics of education

187 Work experience i educalion means—
(A}  Fducation for productivity with rural
(B) Working for a new social order
(€} Txperience in industrial and
technological world .
(D) Education for orentalion towards
vacational  courses
186 [Dnegral education concept is
propounded by—
(A} Sri Aurobinde
(B)  Mabatms Gandhi
(C)  Swami Dayvanand
(0 Swami Vivckanand
182 Hmotonal Adjustment ol studenis is
slfective n-
{A)  Personality formation
(Bl Class-teachine
() Diseipline ;
(D) All of the above

190 Black-board van be included in which

sroup'ealezory of teachine-aids ?

(Al Audio-aids

(B} Visual-aids

(C)  Audio=visyal aids
(M) Nene ol he shove
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191 Which of the following is related with
teaching skill ?

{(A) Blach-beard writing
(B)  Solving questions
{C)  Asking yuestions
(D} All the gbove
192 Students who ask questions in Lhe class
should be-
(A} Advised to meet the teacher aller
the claas
(B) Encouraged to participate in the
discussion in the class
{C) Encouraged to continue asking
guesions
(I Encouraged to search angwers
independently
133 At authoritarian Tevel leaching s, ..
(A)  Teacher centersd
(B} Child—cenrered
(C)  Headmaster centered
(D) Fxperience based
124 Wha developed the interaction analyzis
Category system in education fog
increasing the teacher effectiveness
(A} Flander
(B) Rayon
(€1 Amidon and Simon
(D} Richard Over
195 One of the impanan theary of moral

develupment has been py opased by

{A} Laurence kohlberg
(B) Ernk Fromm

(C}  Laniel Coleman
(D} Benjamnin Bloom
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| 196 Character is doveloped by-
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198

1%

2{H)

(A)  Will-power

(B} Conduct and behavior
(C}  Morality

(D) All of the above

Which ol the following is not a level of

teaching learning 7

{A)  Dilferentiation level
(B)
(C) Reflective level
{1V Understanding lovel

Memory  level

NUEPA is' mainly concermed with

(A} Edueational Supervision
(B)  Educational Tnity

(C) Educaticnal Planning
(D} Edueational Ewvalustion

The name of Yashpal Commitice Report

(1993 is
{A) TC.T in Teacher educatian

(B Learning wilhout Rurden

(C)  Learning through Broad-casting
(D) None of the above

The Falher of Psychoanalysis is-
{A) Erik Il
(B)
(C) Jororne 8 Bruner
(D) Sismund Fregd

Erikson

Jean Diaget
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